REHIRE (FH3ERE)

(& 8 %]

A B| & = A B R A H st %8 % &8 fi £ tBIRES
1A1E | xfiE BEEDE 480, 000 480, 000|20, 000F3 x 1247 F X 2.\ -
5A108 | WHER HER Sk 18, 000 18,000 462, 0000 O SEARAATEN IRIEBRAOFR A
5R25E | BHRE EERK 1,000 1,000 61,0007 7 4 L4t 2
TR298 | BHAE EERR 5, 960 5.960|  455,040(1 >4t 3
10868 | FBER HERK 5, 150 5.150|  449,890( 1 >4t 4
1A11E | SHa EERR 9, 050 9.05| 440, 840[ 1 >4 ¢ 5
3A12B | E=BEH HEMR 690 690 440, 150| = 1% 6
3R258 | EHE 8Ty FBIER a4,000  44.000] 396, 150| (1,000M x 27 B +2, 000/ x 105 H) x2A 7
38278 | EHE EERK 8, 489 8,48  387,661|1 v ft. T E—MRK g
38278 | BHE EERR 12,034 12,03 375 627| 1 o1t 9

ait 480,000  104,373]  104.373] 375,627
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